

Schéma 2

	Tab1	Tab2	T0	T1	T2	T3
t1			X (nb1)			
t2			X (nb1)	Attente S (nb1)		
t3			X (nb1)	Attente S (nb1) Attente X (nb1)		
t4			X (nb1) X (nb2)	Attente S (nb1) Attente X (nb1)		
t5			Libérer X (nb1) Libérer X (nb2)			
t6				S (nb1) X (nb1)		
t7					Attente S (nb1)	
t8					Attente S (nb1) Attente X (nb1)	
t9				S (nb1) X (nb1) S (nb2)		
t10					Attente S (nb1) Attente X (nb1) Attente S (nb2)	
t11				S (nb1) X (nb1) S (nb2) X (nb2)		
t12				Libérer S (nb1) Libérer X (nb1) Libérer S (nb2) Libérer X (nb2)		
t13					S (nb1) X (nb1) S (nb2) X (nb2)	
14					Libérer S (nb1) Libérer X (nb1) Libérer S (nb2) Libérer X (nb2)	
t15						S (nb1) S (nb2)
t16						Libérer S (nb1) Libérer S (nb2)

Remarque : Dans t10 si on accorde s(nb2) on aura un interblocage entre T1 et T2. T1 ne peut avoir X(nb2) puisque T2 a déjà le S(nb2).